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QUESTION 1

Refer to the exhibit.

voice hunt-group 1
phone-display

final 7777

list 1002,1003,1005,1006,1010
hops 3

pilot 2222

DN 1003 was the last to ring during the most recent call. Which hunting method ensures that DN 1005 is presented with
the next call when the hunt pilot is dialed?

A. sequential
B. call-blast
C. peer

D. parallel

Correct Answer: C

QUESTION 2

A customer has multisite deployments with a globalized dial plan. The customer wants to route PSTN calls via the
gateway assigned to each site.

Which two actions will fulfill the requirement? (Choose two.)

A. Create one global route list for PSTN calls that points to one global PSTN route group.

B. Create a route group which has all the gateways and associate it to the device pool of every site.

C. Assign one route group as a local route group in the device pool of the corresponding site.

D. Create one route group for each site and one global route list for PSTN calls that point to the local route group.
E. Create a hunt group and assign it to each side route pattern.

Correct Answer: AC

Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/srnd/8x/uc8x/dialplan.html
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QUESTION 3

An administrator is configuring a cluster for ILS and wants to limit the amount of entries that Cisco UCM will write to the
database for data that is learned through ILS. Which service parameter is used to adjust this limit?

A. ILS Max Number of Learned Objects in Database

B. ILS Active Learned Object Upper Limit

C. Global Data Service Parameter Limit

D. Imported Dial Plan Replication Database Object Lower Limit

Correct Answer: A

Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/admin/12_5_1SU1l/systemConfig/cucm_b_syst

em-configuration-guide-1251sul/cucm_b_system-configuration-
guide1251sul_restructured_chapter_0100011.htmI#CUCM_TK_ 17C708C2_00

QUESTION 4

An administrator is configuring Meet-me conferencing in a Cisco UCM deployment and has created the Meet-me
number and ensured that it is in a partition accessible by all devices. Which two additional steps must the administrator
perform? (Choose two.)

A. Ensure that conferencing-initiating devices are using a media resource group list that contains at least one Cisco
UCM conference bridge.

B. Disable Early Media on the SIP profile of all devices that will use Meet-me conferencing.

C. Enable Meet-me conferencing in enterprise parameters.

D. Ensure that all devices have G.729 enabled.

E. Update the softkey template on all phones to ensure that they contain the Meet-me softkey.

Correct Answer: AE

QUESTION 5

An engineer is troubleshooting an intersite call between two endpoints where the call fails and the message “Not
Enough Bandwidth” is displayed. G.729 codec is in use on both sites. First, calls are being properly routed, and the
issue happens after the third call is established and the bandwidth utilization between the two sites is under 50%. Which
configuration in Cisco UCM must be adjusted to resolve the issue?

A. transcoder

B. location
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C. route pattern
D. translation pattern

Correct Answer: B
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